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£ g B - BIKTE Bifr B B2 i * & =
BRI 5,828,300 + 121,653 5,949, 953
EEAGE 5, 828, 300
EERE 121,653
Z O bR A 5,828,300 x 53.85% ( 35% + (1 — 35%) ) 3,138,539
EHRE 5,949,953 + 3,138,539 9,088, 492
—RERES 9,088,492 x 53.85% (35% = (1 — 35%) ) — 2,644 4,891,508
e Al 9,088,492 + 4,891,508 13, 980, 000
HEGEELE 13,980,000 x 10.00% 1,398, 000
XHEREH 13,980,000 + 1,398, 000 15, 378, 000




BERRE

WREEZFICHTEITTEEDREICOVTORAE - HRFEHR
£ b R - kT Bify % B B & # &
BRI 5,949, 953

EHE - BRR - AESFER 5,949, 953
BEHESAEES 5,949, 953
BEERAE 5, 828, 300
HICEY 433,500
1 FHE# (S 1.00 433, 500 433, 500
=
& - | 563, 000
2 Enithis 1.00 121, 800 121, 800
3 hfEsRE 2.00 121, 800 243, 600
4 RRM|E 1.00 197, 600 197, 600
[
RO BE 1,278,000
5 EMREOILE 1.00 1,278, 000 1,278, 000
=
E7)UTRE 1,441, 800
6 AREEE~DOETULY 1.00 801, 000 801, 000
=
1T NN—CFRO=—AE 1.00 640, 800 640, 800
=
T Uor— L RE 270, 700
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8 MIMD2024EMEIZ K HHERE 1.00 270, 700 270, 700
=

REOHL - BHE 306, 700

9 REDHH - BE 1.00 306, 700 306, 700
=

fERO®RE 1,061, 700

10 ISR DB|ET 1.00 1,061, 700 1,061, 700
=

R 472, 900

11 EBERREER 1.00 453, 700 453, 700
=

12 2ERRERDER 1.00 19, 200 19, 200
=

EEEE 121, 653

EBRRE 52, 653

13 EBHME 1.00 52, 653 52, 653
=

R 69, 000

14 EHHER 1.00 69, 000 69, 000
=
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&5 :1
2 StEERE 1XLY
2 [ g - BIKTE B ¥ = B ® 5 wE i =
HEnE
A 1.00 75, 800. 00 75, 800
EXE211EH))
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57, 000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
=1 it 1E%8EH : 1.00=K 433, 500. 00 433, 500
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2 [ g - BIKTE B B = B ® 5 W E i =
EXE11EH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57, 000. 00 57,000
& it EZ5EA - 1.00E 121, 800. 00 121, 800
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B hREERE 1EHY
2 bz I - KT B H = B ® 5 wE H =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
& it 1EZ8EA - 1.00ME 121, 800. 00 121, 800
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& 3 g - BIKTE B = B ® 5 i &
Ref&
A 1.00 75, 800. 00 75, 800
EXE211EH))
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57, 000. 00 57,000
& &t 1EZ5EA - 1.00E 197, 600. 00 197, 600
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2% EVMREOIEE IEEP
& [ B - IKTE B = B ® w5 &
HER (A)
A 6.00 57, 000. 00 342,000
e (B)
A 6.00 47, 200. 00 283, 200
Em (C)
A 10. 00 38, 400. 00 384, 000
Kifg
A 8.00 33, 600. 00 268, 800
& & 1EZ8EH ;- 1.00K 1, 278, 000. 00 1,278, 000
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& [ B - IKTE B = B ® 5 w5 &
FEHRAR (F%ET)
A 5.00 64, 800. 00 324,000
Em (A)
A 5.00 57, 000. 00 285, 000
e (C)
A 5.00 38, 400. 00 192, 000
& &t {EZ8EH : 1.00 801, 000. 00 801, 000
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£ 5 I - IRTiE BARL = B @ ] i =
FAEHER (F%E)
X 4.00 64, 800. 00 259, 200
HER (A)
A 4.00 57, 000. 00 228, 000
HEhm (C)
A 4.00 38, 400. 00 153, 600
& i E%4EH : 1.00K 640, 800. 00 640, 800
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% b 1RAE - KTk B = LI %5 & &
HEm (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 2.50 47, 200. 00 118, 000
K&
A 2.00 33, 600. 00 67, 200
& E%8EH : 1.00K 270, 700. 00 270, 700
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£ 5 R - BIRTE BT = B (@ %5 & &
FAEHED (F%E)
A 1.50 64, 800. 00 97, 200
HER (A)
A 1.50 57, 000. 00 85, 500
HER (B)
A 1.00 47, 200. 00 47, 200
HER (C)
A 2.00 38, 400. 00 76, 800
& &t E%8EH : 1.00=X 306, 700. 00 306, 700
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FAEHER (F%E)
X 4.50 64, 800. 00 291, 600
HER (A)
A 4.50 57, 000. 00 256, 500
HEn (B)
A 6. 00 47, 200. 00 283, 200
HER (C)
A 6.00 38, 400. 00 230, 400
& it E%4EH : 1.00X 1,061, 700. 00 1,061, 700
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£ 5 g - IRTiE By H 2 B @ & #E B & &
FAEHER (F%E)
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57, 000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 2.50 38, 400. 00 96, 000
& it E%4EH : 1.00K 453, 700. 00 453, 700
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HER (C)
A 0.50 38, 400. 00 19, 200
& i E%4EH : 1.00=K 19, 200. 00 19, 200
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&% EHARE 1K%Y
2 b g - BIKTE BAfL = B i ] i =
EHXARE
= 1.00 52, 653.00 52, 653
=1 it 1E%8ERH : 1.00=C 52, 653. 00 52, 653
E=: 14
&% EBHRERES 1K%Y
2 b g - BIKTE BAfL = B i ] i =
EXBHRERERE
= 1.00 69, 000. 00 69, 000
=1 it 1E%8ERH : 1.00=C 69, 000. 00 69, 000




